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_____give up doing exercise by yourself because it is a good habit.
(A) Will (B) Not (C) Do (D) Never
The concert is people in the stadium, especially teenagers.
(A) full with (B) filled of (C) popular with (D) proud of
John is a proud person. Worst of all, he keeps how rich he is.
(A) showed off  (B) show off (C) shows off (D) showing off
We are that they won the game.
(A) excited (B) exciting (C) excite (D) excites

the bag costs is known to the purchaser only.
(A) How (B) How much (C) What much (D) What

A: Are you too young to buy cigarettes ? B: are you.
(A) Same (B) Neither (C) Either (D) So
What about to that new movie theater to see The Beauty and Beast?

(A) is going (B) go (C)gone (D) going

. The of fruit always become pretty high right after a typhoon.

(A) size (B) price (C) money (D) fever
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